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1. A rectangular region of 600 square feet needs to be enclosed by a fence. The south side of the
region will be bounded by a brick wall, and the fencing on the remaining three sides will be made

of wood. The brick wall is $10 per foot, and the wood wall costs $5 per foot. Find the length z of
the brick wall that results in the lowest cost of materials.

wood
Lot % he widh of —the T < .
V‘QCW\W) as shoaon hawe, -1 1 gL - Ja

Cosx o+ W\MLQ/ll‘aﬁS = (COs{- of EVIAC“) - (COS'(‘ a'c*wOo&B
0% + 5(y+%x+Y ) dilons
= 5% +10Y < __
i ~ \“*\f\ 600(
ﬂ\w (S & CoV\S\\rmw“’f‘ o-cr e = 600 -_-xj) <O 5:.;.
—”WA cost ol W\W\-@\\;(ﬂ.s s 15 % + 10'62_;9.

v

ncroaum of C(%) = /576*—6—029 o1 (OJO")
/ _ _ 6000
C(x)=Is S

fl

[

Tnteavad 15 (61‘”) becayw

x>0} hot oﬂﬂ@w;SQ. coul &
have awny Wd‘wy “s 9= 60%1

2 = (voo =20 X<
I
N.‘Ltf:-' O (x)= '2%030 So CH(?-O) = ‘i—-—f-r? >0 ond

(1) has. o local WAL P~ a}-r)(zzo. As 2o
IS -‘(ka,onlj cerh el ’POMJ Thia s Qj[olﬂlb( A

Ancwen : Use dimensione =20 and =699 = 30

- />




Name: /O chandl Quiz 18 & MATH 200

November 10, 2021

1. A cardboard box with a square base and open top is to have a volume of 4 cubic meters. Find the
dimensions that result in a box that uses the least cardboard.
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1. An open-top box is made from a 12 by 12 inch piece of cardboard by cutting a square from each
corner, and folding up. What should = be to maximize the volume of the box?
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1. A metal box with two square ends and an open top is to contain a volume of 36 cubic inches. What
dimensions z and y will minimize the total area of the metal surface?
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